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Solving Linear Equations

* The inverse can be used to solve system of linear

equations. o1+ 20, = 4

Ax = b 3r1+5re = 7
If A is invertible. H_/
Ax =D
Al(Ax) = A7'b g
x=A"'b

[ 20

However, this method is computationally inefficient.



INnput- outputl\/lode\

e, < ié‘*w R

0.2 0.3

FE—BNUEY 0.1 .
FE—BUs<E 0.2 04 0.1
FE—EBUAM 0.1 0.2 0.1

Cx C X

0.1x; + 0.2x, + 0.1x37 01 02 0.11 X1
0.2x4 + 0.4x, + 0.2x3 0.2 04 02| [x2
0.3x; +0.1x, + 0.1x31 |03 01 0.1) lx3]

BIRA Consumption #B4-Z
matrix




Input-output Model

Cx C X
A8 0.1 0.2 0.11[100
96 =10.2 0.4 0.2]]150
c3) 03 0.1 0.1JL80.
HIG A Consumption M E
matrix
AZRBRA :

BWE 100 [48] [52
x—Cx= |150| —[96| =|54| Demand
g0l Is3l 27




Input-output Model

0.1 0.2 0.1 90 5 4
c=02 04 02| d=|[80| jor"
ector d

0.3 0.1 0.1. 160

FTEBR X EZI RZD?

09 —0.2 —0.1]
x—Cx=d A=1I-C=|-02 06 -02

e w = g —03 —01 09.
B 90" (170
I-Cx=d d =180 x = |240
Ax=b 160 1150




Input-output Model

cIBRA—BUBYNFEE FE2IFEFEZVER?
Ans: The first column of (I — €)1

I-Cx=d W) x=(0-0)"d

1 x' =U-0)"1(d+e)
d d+10|=d+
= 0 . = -0+ U —-0)ey
1.3 0.475 0.25
(I-C)1=|06 1.950 0.50]
0.5 0.375 1.25

BY) == M



